ﬁ Algebra 313

Chapter 8 Review
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Write each number in Standard Notation:

29) 5x10° 30) R2x107 31)  7.3x10° 32)  926x107
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Write each number in Scientific Notation: % Mltve. NEwW = OLD #

~33) 9,800 34) 0.023 35y 123,000,000 ©36)  0.000409

2.3%x10° 16.2x10%
6.9%107

0.333 K10
=’

]

39)

w b o}

333x10

41)  (2x10°)3.5x10°)  42)  (4x109(33x107°) 43)  (25x107)(3x107°) 44) (7.4x107)(3x107%)

22 X

41

L22% 10"




Graph each function:
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5 1) Suppose one of your ancestors invested $4000 in 2002 on an account paying 5.5% compounded annually.
Write an equation to model the exponential growth of the money. Then find out how much would be in the
account by the year 2009. ' b . 1 X :

Xz 2009~ 2002 *—%’?

Equation:

2009:

_ \ _ :
52) Mount Prospect _ v has 52,000 people living in it. Every year the population of Mount Prospect increases
by 3%. How many people will be living in Mount Prospect by the year 2018. '

Equation: \A

2018:




53)In 2009, the cost of tuition of at Bastern Illinois University 1s $7000. The cost increases by 17% a year. What ;
will be the cost of the university m 2013.

Equation: @
2013: £ 13,117.21

#Divide Orjginal %& Iy
g %m@é

Feeatren.

People Left: e

56) The half.life of cesium-134 if(Z yea

%@W ECQ& @Y inal & % 2;.




